

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	WEEDKILL ER ROUND UP PRO	103250	988-89	Weed and Vegetation Control (Including Aquatic Weed Control)	510.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			510.0000	15.35000	7,828.50	
783	1	John Deere Landscapes	Keith McGinty	6239			510.0000	15.10000	7,701.00	
1949	1	Univar USA Inc.	Linda Campbell				510.0000	17.70000	9,027.00	
2417	1	Red River Specialties, Inc.	Kathy Rossitter				510.0000	17.00000	8,670.00	
3227	1	CWC Chemical,I nc.	Larry Sharpe				510.0000	21.00000	10,710.00	
3237	1	VETcorp	Pat Burton				510.0000	14.49000	7,389.90	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	WEEDKILL ER ROUND UP PRO	100076	988-89	Weed and Vegetation Control (Including Aquatic Weed Control)	1,000.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			1,000.0000	15.68000	15,680.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1,000.0000	16.28000	16,280.00	
1949	1	Univar USA Inc.	Linda Campbell				1,000.0000	17.60000	17,600.00	
2417	1	Red River Specialties, Inc.	Kathy Rossitter				1,000.0000	17.00000	17,000.00	
3227	1	CWC Chemical, Inc.	Larry Sharpe				1,000.0000	21.00000	21,000.00	
3237	1	VETcorp	Pat Burton				1,000.0000	14.96000	14,960.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	Rodeo 30 Gal Container	102713	675	PESTICIDES AND CHEMICALS: AGRICULTURAL AND INDUSTRIAL	1,000.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			1,000.0000	17.85000	17,850.00	
783	1	John Deere Landscapes	Keith McGinty	6239			990.0000	18.27000	18,087.30	
1949	1	Univar USA Inc.	Linda Campbell				1,000.0000	17.82000	17,820.00	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2417	1	Red River Specialties, Inc.	Kathy Rossitter				1,000.0000	19.00000	19,000.00	
3227	1	CWC Chemical, Inc.	Larry Sharpe				1,000.0000	19.95000	19,950.00	
3237	1	VETcorp	Pat Burton				1,000.0000	19.69000	19,690.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	Rodeo 2.5 Gal Container	102714	675	PESTICIDES AND CHEMICALS: AGRICULTURAL AND INDUSTRIAL	1,200.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			1,200.0000	18.34000	22,008.00	
783	1	John Deere Landscapes	Keith McGinty	6239			1,200.0000	21.06000	25,272.00	
1949	1	Univar USA Inc.	Linda Campbell				1,200.0000	43.50000	52,200.00	
2417	1	Red River Specialties, Inc.	Kathy Rossitter				1,200.0000	19.00000	22,800.00	
3227	1	CWC Chemical, Inc.	Larry Sharpe				1,200.0000	19.95000	23,940.00	
3237	1	VETcorp	Pat Burton				1,200.0000	20.37000	24,444.00	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	Adjuvant 2.5 Gal Container	102715	675	PESTICIDES AND CHEMICALS: AGRICULTURAL AND INDUSTRIAL	75.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			75.0000	12.40000	930.00	
783	1	John Deere Landscapes	Keith McGinty	6239			75.0000	12.38000	928.50	
1949	1	Univar USA Inc.	Linda Campbell				75.0000	14.58000	1,093.50	
2417	1	Red River Specialties, Inc.	Kathy Rossitter				75.0000	9.00000	675.00	
3227	1	CWC Chemical, Inc.	Larry Sharpe				75.0000	9.95000	746.25	
3237	1	VETcorp	Pat Burton				75.0000	13.13000	984.75	

**Event Lines**

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	Diquat 2.5 Gal Container	102716	675	PESTICIDES AND CHEMICALS: AGRICULTURAL AND INDUSTRIAL	100.0000	GA	CM Contract	Open	

**Line Responses By Supplier**

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
182	1	Crop Production Services	Daniel McMillan	2115			100.0000	43.10000	4,310.00	
783	1	John Deere Landscapes	Keith McGinty	6239			100.0000	50.80000	5,080.00	
1949	1	Univar USA Inc.	Linda Campbell					NO BID		
2417	1	Red River Specialties, Inc.	Kathy Rossitter				100.0000	45.00000	4,500.00	
3227	1	CWC Chemical, Inc.	Larry Sharpe				100.0000	55.00000	5,500.00	
3237	1	VETcorp	Pat Burton				100.0000	43.58000	4,358.00	